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Geometry 25 1 1 2 2 2 3 1 2 6 2 8
Arithmetic 60 3 3 3 4 4 7 2 4 12 4 18
Mensuration 35 1 1 2 2 3 5 1 2 7 2 10
Statistics 15 1 1 1 2 2 2 1 1 5 2 6
Algebra 25 2 2 2 2 2 3 1 1 7 2 8
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THAT I99 (Model question)
FET : 4 quiE® © 50
fowr - i THA © 2 T

1. T3er @r@vs AB fa5UaT @ | A line segment is given.

A
(%) YTeATHRIH Ferdaard A T B AT 60°/60° %1 U f@=1e4 | Construct 60° angle at the points A
and B by using protractor. [2A]

(@) AT B AT H FATTHT @EE FIAUH fagadrs C ATHHRI T&T a1 95 ABC T dreiiar
HIUEE T Hoeeeh] q¥elrd Hedl a=dl, d&lerd | Write the relations of three angles and three

sides of triangle ABC formed by intersecting the lines making angles at A and B. [2H]

2. T U3l TSHETH ATHq 43U g | A Cuboid is given below.

A B
G
F
C
E D
(@) TSHETH! ¥ffas Hidsarer g 7 How many vertices are in Cuboid. [1K]

@) A @rs ofrifag iy 99 ED @5 % w3 ? The point A is called vertex then what is called
ED? [1U]

(1) I%T TSHETH HATeAl Fageh! 9TH «&erd | Write the name of upper surface. [1U]
(9) ST TSHETH! [FARIHI AFE Hiq grg, ATUX a&ierd | Write the length of cuboid edge.[1A]

3. #ES TIAT FR (1 HRF! Ao HETHT TS | I (b ATehl HRbI 7 & 2025400 TMTHTH!

7e9 | Shreekrishna went to a car showroom. The price of the car which he wants to buy is Rs.
2025400.

(@) 2025400 AT 5 HT TITF T A Hid g5, d&lerd | Write the place and place value of 5 in

2025400. [2U]
(@) IHT FRH HeIATs AMTT TFIAATAR AATERTH FANT T ASHAT ACTe ¥ | TdATS AETIHT Ii

«eTe ¥ | Write the price of the car in digit according to national system by using comma.
Also write in word. [2A]




4. A TIQSHT @A T A STACGA | IAET T 35,750 & | IR ASHMARIA B AT
FRFHHAT & 50,000 T AT fa Fifd IATCHT | Sushil thought to goat rearing in his
village. He has Rs. 35,750. His village municipality make a policy of agriculture grant up to
Rs. 50,000.

(%) TMSAMAHTS e THAATET AT STHAT B IHH g3, IdT as1er | Find out the total

money which Sushil have including agriculture grant. [1A]

(@) ATGTHT 6 AT ITBE% (b & 25854 T ATGIHI @R IATSH & 42756 @ AUG 9 QAT T
Hid THT AT Te=g ¢ Sushil spend Rs. 25854 for 6 goat kids and Rs. 42756 for built goat
pen then, how much money does he have left? [2A]

() Afg T ATGTHT 4 AT TBEE T AT I IHIATE Hiq LA 36 7 If Sushil wants add 4
more goat kids then, how much money he need more? [2HA]

5. TTTeRT ForHT TEATRT TOH THIGH TEETRT ITATShaTs ST TR S@IsUsl g | The figure in
right side showed Pemba's mark secured in the first terminal exam.
(%) TFITA qTTHT GTTgehars (A=A J&eTerd | Write the Pemba's
marks in fraction. [1K]
(@) TFIT qTUHT GTATghals JTHAGHT J&Terd | Write the Pemba's
marks in decimal number. [1U]

(3T) ATl GRIEATHT Bl ITq9Td gk UTd Kehl WesdA ? How much the
percentage did Pemba receive in exam? [1U]
(H)Wwaﬁwﬁwq-&wmﬁmfm%w
A9 FHEA T¢I TTHT W, HRI Fied delard | Pemba's friend Rahaman receive the marks 17—0
in fraction then, who receive more marks? write with reason. [2H]
6. (F) 5446 AT ATTHF! TIHT TATT &l Hid g, deTed | Write the rounding off the number
5446 in nearest ten. [1K]
o1 T@TSUHT HTEATTT STFAT 45 1T A AarsaA | The carton shown in the figure has 45
soaps inside it.

(@) ST 345 SATaT FIEANTT A THAT AR TEAT TxT TS — :
& T foRar T9es ? Which mathematical operation is
needed to find out the total number of soap in 345 cartons? \ /
[1K]

() IET 345 ATaT HICATHT THEAT BT AT A AITSSHA, Tl

TS | Find the total number of soaps in same 345 cartons? [2A]
7. TR GEwR IAY «&lerd : Write the answer of the following questions.
(@) 1 auHAT Hfq AfeqT g3 ? How many months are there in a year? [1K]
(@) 5 Mazars Afrafqezdr &ar=X T4=4 | Convert 5 meter into centimeter. [1U]



(1) 5000 fafdfaeazars faezar &R T | Convert 5000 milliliters into liter. [1U]
fagual e s 9T #eree | ¥ 4.4 & A
The small box is 1 square centimeter in the given
figure.

(%) g ¥ ATSTS(ARePT HITE® Tl 42 oAbl &l 2 E
afefafa #fd #fq g=g, 9071 @mS1er™ | Find the area and

perimeter of given figure by counting the square boxes
in length and breadth? [2A]

8. fasusr ATfeerT eds THeM T ad AdUHl Jedeeadl Iav fede ™ : Read the following table
and answer the given questions.

-

%.& SN | |raT=®!r 9 (Particulars) H (Price) FEted®l 74 (Price with tax)
1 el (watch) 5650 Rs. 6,384 and 50 paisa

2 HTEEA (Mobile) 15470 Rs. 17,481 and 10 paisa

3 g€%hA (Headphone) 2500 Rs. 2825

(%) 2 3TeT "I fohea1 HxAled Hiq 7 fa19s ? How much money should pay including tax to

buy 2 watches? [1A]
(@) 3 #TaT HETed T T3aT eShIA [ HIAEd STTAT Hid IHH AE@eTH I8 7 How much money
needed to buy 3 mobiles and one headphone with tax? [2A]

(W) AT TUTEA TSI, HATZA T &SHhIA Teh THATAT [heAsTaT T STEAT Fiq FTAT FHamdq fa{ae g7s,
o4l @S HErE | If you bought one watch, one mobile and one headphone then how much
money do you pay for tax in total? [2H]

9. gTEFAT HreATHe® fqarerder Yo ST faamdier IEamimar STATTes! aasiisl T Hbl ATRTHT T G
faa=ur a1 AifersrAT fSUHT B | Information about the income and expenses of 50 students of
Sarasowoti secondary school is given in the table below.

AT Income g Expenses
iF A (3) Mw T (%)
fandiesare gg®iad WA | 40,000 | @M (Food) 40,000
Collection from students
25,000 IrarTd (Transportation) 9,500
feramergaTe Fedi Grant
from school =S faeeH (Music system) 3000
99 9219 (Drinks) 5000
fafagr (Miscellaneous) 1500
ST Total | 65,000 59,000




(%) ATATATAAT HIq FTAT B2eTSUH & ? How much money allocated in transportation? [1K]
(@) ATASTETE Hiq THH F9d HUH &S, Ta7 ag1erd | Find the money saved from the picnic?

[1A]

(3T) FTATSIATE FIA AUH 6 [qamdieedrs AR hal a9 AUSH | J& Teh A7 e
FHT THH AAAST FAHAAT @ 9US, I as1erd | The saving money from the picnic was

return to the students equally then, find the expenses of each student in picnic?

[1HA]

10. =7 STar Hreatae faemeraest ik a9 309 #7 Fer g ¥ aweEr fgardieEer qA1 faavorer
ATIRHAT TR TRUHT T ad [G3URT & | Iod TTFEATaTHbl ATeATehT T ITTRT FITehT
Ia¥ T2 | Given bar diagram is prepared on the basis of information about the student’s

enrollment of grade 1 to 5 of Shree Janta secondary school in academic year 2078. Observe

the bar diagram given below and answer the question.

(&) gada=aT ®H Tl agen quar T geTar 4
ferardt SEC TR HeTT Cal 60

>

% g1 ! Which grade has the least number of 55
students and which grade has the most number 50

of students? [2U] 45
(@) I A AT ST Hid 1 faandies wsA 7 40

. 35
How many total students were there in the

school? [1A]
25

20
15
10

HaT Areatae faarerg AT faarer R0z0

¢ T 2 dWM @R 9=

11. Qe HBMET ITIH Te’, gg@l a1 foed 9= | Fill in the empty box by suitable word,

number and symbol.

(%) X o 9@ HigATH! ATaR 99 e SHrsg 79 X T

X denotes days of Saturday of Baishakh month then x is called

@) 5+7=10[1
@ [ +2=7
@ 15- [ =6

@ 27 L 3=9

af v |

[1K]
[1K]
[1U]
[1U]

[1A]



12. 15 37T F=aal el ANaeEdrs axer g4 T aigal Icdshe 3 HTardl a3l s a7 If 15
oranges are distributed to some people then each person received 3 oranges.

(%) BIST TSHART TART TR AT ATHRHT @l A AT ATTewdls Ul 6, AT ATSTee

| Write the mathematical sentence using box notation and find the number of people to whom

the oranges distributed? [2A]
(@) g HIFE 5/5 ATTH T 913 HIqarel Taam 99 TH9es, ? How many oranges should be
added if each person received 5 oranges individually? [ITHA]



THAT I99 (Model question)
FET: 5 quiiEs® : 50
fersr - o THY : 2 ¥U
T g9F AHATT B | Attempt all the questions.
1. farw srE ¥ ofnifamg O 1 3w Fvew fagus § ¢

In the figure, dice and the angle formed at the point O are given.

D) C
.
P B
. °
6
e
0 A
(%) STEHHT HIAATET FAT T Fde g1 ? How many corners and the surfaces are on the dice?
[1U]
(@) LAOC H&ET I B0 &7 7 What type of angle is ZAOC? [1U]

() LZAOC & AT TR HI0 f@={e ¥ | Draw an angle which is equal to the ZAOC. [1A]

(&) £/BOC + ZBOA &I AT9/BOD %I W= &{d a¢l a1 &H @, Ta7 g | By how much

1s the measurement of ZBOC + ZBOA more or less than the measurement of ZBOD? Find
it. [2HA]

2. T ANEIHA FETSTHT T3l FqHS [GUH B
A quadrilateral is given below in a square grid.

o

(%) AB ¥ AT &4 W@r@U€ % & 7 What is the line segment parallel to AB?  [1K]




@) ZABC T ZDAB #I 719 &fd &Iq & ? =edl FAW T A9 e | What are the
measurement of ZABC and ZDAB? Using the protractor, measure and write it. [2A]

3. FTSHTSTHT TSl BT Hed & 30720485 7&d | The price of house in Kathmandu is Rs. 30720485,

(F) ST TSEATATS AMIT TGIAATAR AATERTH () BT FANT T &2 | Write  the  number
according to national system using comma (). [1K]
(@) T 30720485 A5 A&RAT J&Terd | Write the number 30720485 into words.  [1U]
(1) TESUH TS ARINGT TR TITTHA ANAHHT J&qd T{e9 | Present the given
number in the place value table according to the international system. [2A]

() SFT B feheT ST THH & 50485 faU | 50485 ATE AlTHF! AT AT THER | To buy a
house, Rs. 50485 is given in advance. Round off 50485 to the nearest thousand. [1A]

4. feATer T faweresT 20 qUTgehe! TRIETHT 13 3 qiarer T fawest 100 ToTgewhe! JRIETH 64 73F
9T e | In a test of Mathematics, Rima obtained 13 marks in 20 full marks and Sunita
obtained 64 marks in 100 full marks.

() AT YT Tl qTATg s (A=THT J&1erd | Write the marks obtained by Rima in fraction.
[1K]
(@) AT I bl JTrgehdls IIqeradl @&ierd | Write the marks obtained by Sunita in
percentage. [1K]
(M) FAT ¥ g FEA Hid TE AF I TG, I ARSI | Among Rima and Sunita,
who obtained more marks and by how much? Find it. [2HA]
5. A fagerare ATITT UIET WATheHT 30 31T Feheld AUh! 5 WTebd Feheld ¥ IT § 3T FTehold b
ATTSH | IH Abedare 39 39 ATl Fheid AThaeedls aigad | When Nabin came from
abroad, he bought 5 packets of chocolates containing 30 chocolates in each packet and 8 more
chocolates. From these chocolates he distributed 39 chocolates to his relatives.

(@) HMGH THLATATS AT area T Jefer™ | Write the above problems into mathematical
sentence. [1U]

(@) TAMET A HIAATET Fheid dlbl Ie=gd, TaT @ @gder™ | How many chocolates are left with
Nabin? Find it. [2A]

(1) AThRTATs ATSH HABAH TFET 39 ®E a1 FIH ST & &, FRUATET d&ler® | The number
of chocolates distributed to the relatives is '39". Is it prime or composite number? write with
reasons. [2U]

6. ARAT TRTIAT ATA fh ETedd TherdT e | I 5%%5.111 HAAT T 2.5 . 7. HERT B9 | Sarita
had gone to buy household goods in a wholesale shop. She bought 5% kg Mungi and 2.5 kg

Musuro.



(@) 2.5 9% (AT 8@ &R e | Convert 2.5 into mixed number. [2A]

(@)Tﬁ,g@?‘r?wﬁqﬂmwméﬁﬁmWwﬁﬁﬂﬁmm%ﬁmwm?If

she has to make 10% kg of dal (lentil) by mixing Mugi, Musuro and Mas, how many kgs of

Mas should she buy? [2HA]

7. ASAAT ATRAT ATl [qedT AHd g9 arRdgare - _—

T €% [Ia ST fAeT 8 oS SATATE T FAET  sasunacin,,, o ~

| ST aegatg 239 T fa. & giwr @ faqader &
TRTeT fa<4T 2:42 a7 9T | Ranjita boarded a bus
from Baglung at 8 am to go to Chitwan via
Pokhara to attend her nephew's wedding. She

reached Sauraha of Chitwan which is 239 km &<

Fhon | £ 01 | Sl : Bhands
from Baglung at 2:42 pm. aripanager B"’;‘é?%“‘“;a»a_;;;;;--~~-"’*J;1cr.nawa.,$'-'2

() IS FRTET T3 AP 0T TAT MG IAT (6T T Qb THASTS TTAHT F AR fohar
T, ?
Which basic operation of Mathematics should be used to find the time taken for her to

reach Sauraha? [1U]
(@) 24 T THAATIR F(q a9 ARIET Tl Ae 7
According to 24 hours’ time, at what time did she reach Sauraha? [1U]

(W) fa&Hr et 18 ST ugATens 350 fa.fd. v aver gaq fagar | g I wremr 200 fA.fa. @
FiHT TEAT A7 STHAT Hiq e Fad aATeUH W@, Tar aSaerd | 18 guests attending the
wedding were given the sarbat (a juice) 350 ml each. If 200 ml sarbat remains in the vessel,
how many liters sarbat was made in total? Find it. [2A]

(9) U STAT AfaTeATs Hie ¥ qrgee fqarsa 3 ey 70 dfrefqer #9er dmdeas 9+ @g | T8l AT 5
ST HIC dTere (a3 & HIST ATAYTF I6s, TdT dMsTe | If 3 meter 70 centimeter of
clothes is needed to sew a coat and pants for a person, how much clothes is need to sew coats
and pants for 5 people? [2A]

8. U3aT feparer 80 fer @iwamg ¥ 35 fHex =eTg AUl AATHER TIAT a1 Gl ATMTHT B | MEaeaTe
FRIST I FARIAR A bl RAR ST TARATE IRTEX. ATAT A Tegel AR [h¥ ATTST
| A farmer is cultivating paddy in a rectangular field having 80 meter
length and 35 meter breadth. He bought 3 bundles of wire of equal
weight from the market to fence the field 3 rounds with the wire to
protect it from cattle.

() TFATE T ATSTS fAURT FACATHT ATATHT IRTATT TAT TS & TG, 7
When length and breadth of a rectangle are given, what should be done to find its perimeter?
[1K]



(@) AT THET et 2 foreaet 55 fhelTUTe 388 99 T aved diREl did Hid Ee, 91 asTerd |
If the total weight of the wire is 2 quintal 55 kilogram, what is the weight of 1 bundle of wire?
[1A]

(1) TAHH ARAR ATSET [FAAre 15 X TR AT 9T A7 [Farel ST Hiq e arR e

7erl ? While fencing the field 3 rounds, the farmer was short of 15 meters wire, how many

meters of wire did he purchase? [2HA]

9. T fed=el @Y WHaTe AHMe® [bl WAl [ | 37 2079 T 3 T HHATARE AH=
fBfTE | Maya buys goods from Himchuli food store. She bought following good on 2079
poush 3.

FagAT (Price list)

IR ATH IS (Unit) | 3T (3.)

(Particulars) (Rate Rs.)
=T (Rice) ST (Sack) | 2000 (Details of items bought by Maya)
a< (Oil) fera® (Liter) | 220 FATHA (Rice): TF aRT (1 Sack)

P (Sugar) Bpam (kg) |95 a9 (0il) : 5 fex (Liter)

AT (Flour) 3T (kg) | 80

T (Daal) 3T (kg) | 200

() TTTghTg TATwaT FH Hed & ATHTHT 7ed ¢ Which items has the lowest per unit price? [1K]

(@) fer=ell @ W@ AT o faae THA7 [GEuar 8 | 9 fBer AT ARt Sa fad
FIR 984 | The sample of the bill given by Himchuli food store to Maya  is given below.
Prepare a bill on the basis of the goods purchased by Maya. [2U]

10



few=ell @ ¥
a1 9. 105998932 fafg : 2079/09/03
faer 7. 02313 hdl :
% . [T A qfewTor £ ST TEH (%)
ST
ey FIST 9T
[EEl

() AT %. 5,000 [0 99 TUHT Fe@ | faAqTaRF THH [qRaswdig & 1200 F FARA [heTehl
AT SHET ST T@epl BTATel g a7 TFad 7 YFad 99 i YFed, T91 S SHE | Maya has
gone to the shop with Rs. 5,000. After paying the amount according to the bill, will the
remaining amount be enough to buy fruits worth Rs. 1200 or not? If not, find out how much is
not enough for her. [THA]

10. FEA FHATHT 12 3ATeT, FiAATHT 14 12T, [Herwaert 10 a1 T AH ATH 8 AET T&AF AR T
feemeraars feu@ | Sachin gave 12 books of stories, 14 books of poem, 10 books of essay, and
8 books of general knowledge to the school where he studied.

(@) Wfeder faamergers fausr qXa@  qgeaars afdwrdr Y¥qd e | Present the
number of books given by Sachin to the school in a table. [1A]
(@) T TATGHATE AGIha BETSTHT &A# T AT T | (Aghd &I [aqa+) Draw

a bar graph from the given data in a square grid paper. (Square grid paper should be given)
[1A]

11, 9T IR Tl ATaaqdR TIvH =AeE (4x + 36) e § | 39 ASTH qvang AeE
4T 10 exel a@r § 9, The breadth of rectangular ground of a 'Janta Basic School' is (4x
+ 36) meter. The length of the ground is 10 meter more than its breadth.

(%) 4x + 36 HIq 9217 ATq=a=1% &l | How many terms are in the expression (4x + 36)? [1K]

(@) IFT AITHI AFAGATS x FT &IAT JdETerd | Write the length of ground in terms of x. [1U]

11



() & TSTHI IRMATT H &, 91 @sHe™ | What is the perimeter of the ground? Find

it, [1A]

(%) AT x =2 9T I TAICHT ATSTg TaT @TSerd | If x = 2, what is the breadth of the ground?
[1U]

12. TR x AT T | TEALITE YT U TRl 5 AT TGN B | SHEE AT T AT 35

AT B | Pemba has Rs. x. Ram Naresh has Rs. 5 more than Pemba. Both of them have Rs 35

in total.

(%) ITAALLHT AUHI THHAT x FT TIAT &2 | Write the amount with Ram Naresh in terms

of x. [1K]
(@) IAEEET HIq HIq FTAT 8, IO dMsHer™ | How many rupees does each of  them
have? Find it. [2A]
() YIS IAHT FaATA Bl wTAT Afafad & A ITHALTHT TUH 92T e g8 7 How many

rupees does his father have to give Pemba to make it twice as much as Ram Naresh has?

[1HA]
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